
Rough Work should not be part of your neat essay.
Your examiner should not see your rough work.
Your paper represents you, it should not start with something
not part of the actual work.
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Vague heading? Unclear what the paragraph will entail

Progressive tax is just one aspect of Justice and taxation, don't make
it the sole background of the topic

write as a phrase

 All of these are overlapping
in nature. The underlying fact
is the same throughout the
points. 

Exapand more.
3-4 more points
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Why does this have 8 points when it is not
asked and the actually asked question has only 5
points?

This will overlap with why they should pay.

Same as 4.2

4.3

Only when tax is the only
means of revenue generation

4.3 amd 5.4

4.2 and 5.1

Way forward when not asked in the
topic, should not exceed more than 2-3 points

Same thing

Proportional falls under progressive, why highlight
these two sectors only??
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Point 6 and 7 are missing

This is only relevant to Pakistan, you are to
address the topic at global level.

Do not directly hit the topic in the introduction. Write a proper attention grabber, that alludes to the topic but does not directly 
talks about the arguments. It could either be a quote, a question, an annecdote anything.

This is not an introduction.
The purpose of intro is to 
introduce the essay and create
interest regarding the topic.
It has a proper structure and
composition.

No cohesion between the paragraphs.
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How does that relate to your heading in the outline
Justice and taxation?? What portion discusses the aspect
of creating justice in taxation system
all you have done is decsribe what progressive taxation is.

Informal expression. You are to write in an academic expression.
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Concluding sentence.

Don't write as if your are
giving suggestions, match the
tone of your topic.

This does not makes a smooth transition for why??

Tone is should not must.

This does not answer the why?
Why should they pay? If it is their responsibility 
then explain your logic behind it.
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sentence structure

Avoid this from of transition

Tone does not match the topic.
You are to maintain the tone of the
essay

Irrelevant.
This shows that tax
exemption is from the state
not why the rich should pay tax.

Irrelevant to the argument

https://v3.camscanner.com/user/download
Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Oval

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line

Aleena Ahmed
Line



Directly address the argument in the topic sentence.

Informal expression

What government must do is irrelevant 

discuss why the rich should pay their fair share??
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This is not about what progressive taxation ensures. it is about why should the
rich pay their taxes.

Irrelevant to the argument
No analysis no evidence
No proper structure

Paragraph length
should be consistent throughout
the essay.

Don't write on the basis of If or other speculations

word choice

Repetitve. This has been discussed before with the solar panel example
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The argument is same just the
example is different.

What was the reason for this increse in taxes. was it because the rich don't pay taxes in 
Pakistan? was it poor policy making or something else entirely.

Repetitive Extra and unnecessary detail

The effect should be of rich not paying taxes not of burdened poor  

Separate argument
Don't argue on the basis of if or maybe

No proper explanation of why rich not paying tax leads to
lack of trust in government.

This does not show lack of trust. Discuss one idea in the paragraph
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Concluding sentence should some up the argument not the effect

You are not to write the effect of past two points
you are to write the effect of 
statement given in the topic.

What was the protest about? how does that link to rich not paying the taxes, No conections
established, no analysis given regarding the argument

Why does this happen?
How does it relate to rich not
paying the taxes.
If the underlying argument is exploitation of poor in each point then
make it a single point.
There is noreason for
discussing various means of
exploitation.
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Why must? Tax revenue is only for public services, not for other investement
countries have other means of earning as well, such as service sector, industry, exports
and FDI.

That is only a difference of 2-3 percent
Also you have not given an analysis of why
lower tax net leads to Loans and debts? What's
the link between the two?

That's IMF's condition how does that relate to
rich not paying the taxes.

This is effect of loans not of your argument.

sentence structure
?

Repetitive
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Irrelevant detail

repetitive

All your examples are generic
and related to Pakistan with
an exception of one or two.

Repetitive

This is the same argument as increased
financial burden on poor.

Repeted example
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This is the same argument as increased
financial burden on poor.

Paragraph structure
No argumentation.

No analysis. No
structure
No example and evidence
No logic as to why only these two sector
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How does that apply to current topic?
No link created

3rd person

There are 8 solution paragraphs in the outline

Conclusion is one paragraph

The topic is should not must.
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No structure to the
conclusion.
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 Category Total marks Obtained marks 

 
Content 

Qualitative analysis 10 1 

Quantitative analysis 10 1 

Validity & Reliability 10 1 

Relevance 10 1 

 
Language 

Sentence structure 5 1 

Vocabulary 5 1 

Clarity 5 1 

Command of language 5 1 

Expression 5 1 

 
Structure 

Outline 5 1 

Introduction 5 0 

Body paragraphs 5 0 

Conclusion 5 0 

Coherence Cohesion  5 1 

Coherence 10 1 

Total 12 

 


